

① با توجه به فرضیه ها و به کمک $(n-1)^2 + (n-1)^2 = (n-1)^2$ می توان نوشت

②

$a^2 + (a+1)^2 = (a+1)^2$ $(a+1)(a-1) = a^2 - 1$ $\Rightarrow a \leq 1 \rightarrow f(n) \leq \begin{cases} n^2 - 1; n \geq 1 \\ n^2 + 1; n \leq 0 \end{cases}$

③ $|n+1| \geq 1 \Rightarrow \begin{cases} n+1 \geq 1 \Rightarrow n \geq 0 \\ n+1 \leq -1 \Rightarrow n \leq -2 \end{cases} \rightarrow f(n) = \begin{cases} n^2 - 1; n \geq 0 \\ n^2 + 1; n \leq -2 \end{cases}$

در (۳) بررسی می کنیم $\Rightarrow 1 - b \leq -1 + a \Rightarrow a - b \leq -2$

④ $n - a \geq 0 \Rightarrow n \geq a$ $b - n \geq 0 \Rightarrow n \leq b$ $\Rightarrow \frac{a}{1} \leq \frac{b}{1} \Rightarrow \frac{b}{1} \leq \frac{1}{1}$

⑤ $\frac{n+1}{|n-1|} \geq \frac{n+1}{|n-1|} \geq \frac{-1}{-1+1} = \frac{1}{0} = \infty$ $\frac{4-n}{(n^2+n+1)} \geq \frac{4}{n^2+n+1}$ $\Delta \leq 0$ $n > 0$

⑥ $y = \sqrt{(n)-1} + \sqrt{(n)} \Rightarrow (n)-1 \geq 0 \Rightarrow n \geq 1$ $(n) \geq 0 \Rightarrow n \leq 0 \Rightarrow n < 1$ $\Rightarrow \emptyset$

$$\frac{n^2 - n - 4}{n^2 - 1} \geq \frac{(n-3)(n-1)}{(n-1)(n+1)(n-1)}$$

$$\frac{-1}{+} \frac{-}{+} \frac{-}{+} \frac{-}{+} \frac{-}{+} \Leftrightarrow \frac{1}{2} \leq (-2, -1) \cup (5, \infty) \cup (5, \infty)$$

$$\Rightarrow \frac{n^2 - 2n - 4}{n^2 + 2n - 4} \geq \frac{(n-1)(n-3)}{(n+1)(n+3)}$$

$$\frac{(n-1)(n-3)(n+1)}{(n+1)(n+3)(n-1)} \geq \frac{-1}{+} \frac{-}{+} \frac{-}{+} \frac{-}{+} \frac{-}{+} \frac{-}{+}$$

$$\frac{1}{2} \leq (-2, -1) \cup (-1, 1) \cup (6, \infty) \cup (5, \infty)$$

$$[n] - 1 \rightarrow [n] \geq 1 \Rightarrow n \geq 1$$

$$\Rightarrow \frac{\Delta n^2 - 4}{[n]^2 - 1} \geq \frac{[n]^2 - 1}{[n]^2 - 1} \Rightarrow ([n] - 1)([n] + 1) \geq 0$$

$$\Rightarrow [n] \neq 1 \Rightarrow n \in [1, \infty)$$

$$\Rightarrow [n] \neq -1 \Rightarrow n \in (-\infty, -1) \cup (1, \infty)$$

$$\sin n \neq 0 \Rightarrow n \neq \{k\pi\}$$

$$\cos n \neq 0 \Rightarrow n \neq \{k\pi + \frac{\pi}{2}\}$$

$$y = \sqrt{1 - \sin^2 n} \Rightarrow 1 - \sin^2 n \geq 0 \Rightarrow \sin^2 n \leq 1 \Rightarrow -1 \leq \sin n \leq 1$$

$$\frac{1}{2} \leq \sin n \leq \frac{1}{2}$$

$$\frac{1}{2} \leq \sin n \leq \frac{1}{2} \Rightarrow n \in [k\pi - \frac{\pi}{6}, k\pi + \frac{\pi}{6}]$$

$n \geq 1$ (I)

(4)

$$1 - \log \frac{n-1}{r} \geq 0 \Rightarrow \log \frac{n-1}{r} \leq 1 \quad n-1 \geq \frac{r}{e}$$

Def (II) $\Rightarrow \mathcal{P} \subseteq [\frac{r}{e}, +\infty)$

$$-59 \leq 1$$

$$\frac{n-m}{r} \geq \frac{r}{e}$$

$$(n-m) \geq r$$

$$n - \varepsilon n \geq r \quad (n - \varepsilon)(n-1)$$

$$\frac{1}{1-\varepsilon} \geq \frac{r}{n-1}$$

ii) $\frac{r n \varepsilon}{r n \varepsilon} \in \mathbb{W}$

$$\mathcal{P} \subseteq [1, r]$$

$$n \leq \frac{-\varepsilon w + \varepsilon}{\varepsilon w - r}$$

$$\mathcal{P} = \left\{ n \mid n \in \frac{-\varepsilon k + \varepsilon}{\varepsilon k - r}, k \in \mathbb{W} \right\}$$

9. i) $n(n-1) \geq \frac{r^2}{(1-\varepsilon)^2} \cdot (-\infty, 0] \cup [1, +\infty)$ (III)

$$n^2 - n \geq \frac{r^2}{(1-\varepsilon)^2} \quad \log \frac{n^2 - n}{r^2} \neq 1 \quad n^2 - n - \frac{r^2}{(1-\varepsilon)^2} \neq 0 \quad (n+1)(n-1) \neq 0$$

$$n \neq -1, 1 \quad (IV)$$

$$(-\infty, 0) \cup (1, +\infty)$$

$$\mathcal{P} \subseteq (-\infty, -1) \cup (-1, 0) \cup (1, +\infty) \cup (1, +\infty)$$